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3,875

0,333

0,222

1 K2/L2

(K2+/K3) /h12

+2,40

+4,316
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= – 26,7789 /EI

K2+K4+K5+K7
αD

Δ1

αC

Δ2

mt

1 + 0,56 

0,5

+ 3,04 
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K2+K6

7,0730 0,1608

0,0174

1,2860

0,4465

0,0040

K2/L2 1,5 K6/L6

K3/h32K2/h22+K3/h32

K5/h52+3K6/h62

+K3/h32

αD

Δ1

Δ2

-3,72

+3,0375

+3,0375

–18,4530

332,7699

56,9895

K1= 0,0
K2= 1,929 EI
K3= 1,286 EI
K4= 0,0
K5= 0,5 EI
K6= 5,144 EI

1,929

3,858

0,1608 0,6430 0,0

0,6430

0,6430

0,0

0,0

0,0

+18,225

αD
Δ1

Δ2

1

αD

Δ1

Δ2

+17,89
-21,63
+ 4,75

+25,83
+46,07

0,9645

0,0714 0,0714

0,0833

+3,72 mt = MEP4D

Dx nudo A = Dx nudo B: (332,7699 + 56,9895) * 109 / (300000 * 67500) = 19,25 cm 

I1 pilar (30x30) = 67500 cm4

I2 pilar (50x50) = 520833 cm4

4,05

1,0125

Isostático (9 * 0,45) =

Isostático (18,225 /18) =

+18,225 mt = MEP3G

520822 / 67500 = 7,716

I2 = 7,716 I1

Equilibrio dintel superior

mt
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+2,40 mt

+4,80 mt

MEP

–5,60 mt+16,50 mt +5,60 mt –4,10 mt
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0,333

0,222
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–1,50

– 0,500,00

1

K2+K4+K5+K7

K3+K8+K5

3(K6+K7+K8)/h22

1 K3/L3

0,333

1,5 K7/L7
0,60

1,5 K8/L8

0,60

0,675 –3,30

– 1,2159 /EI

+0,6024 /EI

– 4,3436 /EI

– 1,3297 /EI

0,333 0,0

1,6

0,0

0,0

0,0

+ 2,40

+16,50

–5,60

1

+5,60

0,0

0,0

1

3

1,6

1,5

0,6

1,5

1,6

0,333

0,6

0,6

0,6

0,3
0,8

0,8

3

– 1,2159 

+0,6024 

– 4,3436

– 1,3297

–1,66

– 3,58

mt

+14,55
–8,34

+0,16
+ 5,58
+1,64
+ 1,10

+ 2,12

– 4,55
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K2+K3

2,3333 0,4166

1,3333

0,75

0,4219

½ K3 1,5 K2/L2

K1/h12+K2/h22

αC

Δ

+5,964

+8,786

+11,45

+12,7466

-19,7026

+62,1676

αD

ΔαD

αC

K3+K4

+2,10 mt

MEP

-8,40 mt -8,064 mt +8,064 mt -16,85mt

4,2 t8,4 t 1,05 t2,10 t

Cortante

Isostático
(1 * 4,2)

Cortante  
MEP 

(2,1/ 2) 

Cortante

Isostático
(2 * 4,2)

Cortante  
MEP

(8,4/ 4) 

Equilibrio vertical nudo B

M1A = –8,40 + 0,75 *(–62,1676 / 4) = –20,06 mt

M2C = +2,10 + 1,5 *(–19,7026 + 62,1676 / 2) = +19,17 mt

M3C = -8,064 + 0,833 *(–19,70+ ½ *12,7466) = –19,17 mt

M3D = +8,064 + 0,833 *(12,7466 + ½ *–19,7023) = +10,48 mt

M4D = –16,85 + 0,50 * (12,7466) = –10,48 mt

0,00

Etapa I viga A-B-C
- q L1

2/8 + q L2
2/8
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K1= 1,866 EI
K2-3= 1 EI
K4= 4,417 EI
K5= 2,489 EI
K6-7-8= 2,765 EI

MEP

–12,30 mt–8,064 mt +13,20 mt
–4,32 mt

I1 (45x30) = 101250 cm4

I2 = I 3 (25x25) = 32352 cm4

I4 =I5 (60x30) = 135000 cm4

I6-7-8 = (30x30) = 67500 cm4

K1+K4 +K6
8,798 2,0735

3,765

1,9201

½ K4 1,5 K6/L6

K planta = 3 (K6 + K7 + K8 )/ h2 = 1,9201

αC

Δ

αD

1,1521
K2+K4+K5+K7

10,4010
1,5 K6/L6
1,1521
1,5 K6/L6
1,1521

K3+K8 

K planta

αE

+12,384

+4,326

0,00

– 1,80

+1,6671/EI

+0,3678/EI

-2,6438/EI

+0,8090/EI
αD

Δ

αC

αE

1

4,1472,0735
2,489

0,0

1,886

1,3825

0,0

0,0

0,0

– 8,064

+0,37 
+13,05
– 11,38

–0,74

+8,0864

2,765 1,1521

–12,30

αD

Δ

αC

αE

11

2,765 1,1521

1,1521

1,1521

1,1521

1,1521

F
G 8

6

– 4,32

2,765

4,147 2,0735

0,0

0,0

0,0

0,0

1,383

1,383

mt

– 2,03
+ 0,81

– 2,54
– 1,18
– 0,39

+1,56

– 1,93

– 0,81
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